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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. gdemeff weged 3199 999 95 W i 1fHarEa: fag |

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. TH 9 & &< 9 FAUSH wU=R # fordl ghR w1 Afe / = / faienymg
M W fet oo & g w1 wE " |
If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi

version should be treated valid.
3. [t ged A A € | 9v e 19 H =l fashed §

All the questions are compulsory. Question No. 19 has internal

choice.

4. YA% U H IW q T IW-YRk H gl ford |

Write the answer to each question in the given answer-book only.
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5. U HEA 29 5dH A0 AHTHE ¢ |

Question Nos. 2 to b are very short answer questions.
6. T IS 6H 17 T TS & a1 18 § 20 Tk a9 ¢ |

Question Nos. 6 to 17 are short answer questions and 18 to 20

are essay type questions.

7. 99 991 % T @ 1fys 9am i are 9 €, 39 9t 9 1 g T A
qaq fod |
For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in

continuity.

8. YUY Ak 1 o IR W (i, ii, ili 9T iv ) & | THF 91 & ST & 4IR
famed (31, &, @UE T) T | WSl fashey &1 STER SW-Yfawt H

fTETTER difetehl sHTR g .

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each
part has four alternatives A, B, C and D. Write the letter of the
correct alternative in the answer-book at a place by making a

table as mentioned below :

U9 hHih e ST T TSR
Question No. Correct letter of
the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)
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(37) TwEd (=) g
(W) s (2) ¥ |
Hybrid variety of ‘Mango’ is

(A) Dashahari (B) Totapuri

(C) Amrapali (D) Safeda.

N —

(i) e H TS T I H YhA™ F AU TS TRt ©
(31)  FARYEI®E (F) 2,43
(|) Wi (3) erEfde |

The suitable pesticide to control ‘Bunchy top disease’ in Banana

is

(A) Chloropyriphos (B) 2, 4-D

© Phorate (D) Dimethoate. %
(i) IerRTe TTEH fRE dio THo WM W firameid 719 € ?

(3) 1592 (9) 4598

(49) 99 105 (3) 1179 Afees |

At which pH value most of the enzymes are active ?

(A) 1-5 to 2 B) 45to8

(©  9to 105 (D) Above 11. =
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(iv) |E TIR T TG Al i fha 99 Iaerd it | W 2

(31) 309 35fHe (7)) 159 20fHe
(@ 8% 12 (8) 29 5fHe |

The time to keep tomatoes in boiled water for sauce making is

(A) 30 to 35 minutes (B) 15 to 20 minutes
(C) 8 to 12 minutes (D) 2 to 5 minutes. %
2. THal A TRy foerfim =t w@ A Ear § 2
Which vitamin deficiency is responsible for Scurvy disease ? %
3. o™ H Al el & fau 3! fhg WrA 4 I=iiid s ?
Which chemical will you treat for higher success of cutting ? %
4. ‘OhS HEc' I Wt gq oS St AEN gfd g fafa |
Write the seed rate per hectare for cultivation of ‘Safed Musali’. %
5. ‘srenfedfae’ fore W # urn S € 2
Which plant contains ‘Azadirechtin’ ? %
6. TR JHE Hl FHARY |
Explain the stionic effect. 2
7. ol i @dl & SNfYfe AEe T HifNT |
Explain the economic importance of fruit cultivation. 2

8. UiY o THA W S UHI A < A TRl IR GaHnfadl %l Soold hifey |

Write any four precautions which should be considered during lifting
of plants from nursery. 4 x % =2
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10.

11.

12.

13.

14.

15.

16.

5
Tagel &l ‘F’ ¥ FEH % hiE IR SUE GIET |

Suggest any four remedial measures to protect fruit plants from ‘Loo’.

4x% =2

el o FofteRor i fafy fafa |
Write the method of grading of fruits. 2

‘9T F el B THAM TEIH 91 q die & A9 fafew | e e 9
FGT 2

Write the names of two insects which damage the ‘Ber’ fruits. How

will you control them ? 1+1=2
TARUTST 1 3TN a2 Jareq fafy fafa |
Write the uses and propagation method of Aloe vera. 1+1=2

ey gfg FEe &t aRvm fafeae | 3o fogm ¥ 37 a8 3 U 99 |

Define plant growth regulator. Explain any two uses of it in

Horticulture. 1+2=3

3TES h FERI &l U T |

Describe the bahars of Guava. 3

g § ‘Tt e’ g WY TR w4 1 fafy s afes avia wifsa

Describe the propagation method of ‘Air layering’ in lime with diagram.
2+1=3

IRd H &l IR0 fashrd ¥ e 7@ S FHEsT & Seaid Sy |

Write the major six problems for the development of fruit preservation
in India. 6 x % =3
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17. ot fato § UfaeT 9eT0 1 o Heod § 7 SoHiel eI &1 gies 9o
HIfST |

What is the importance of pectin test in Jelly making ? Describe the

Jelmeter test with diagram. 1+1+1=3
18. ST Bt 1 i i SR amnta S

(SN EIR

(i) =R I fored

(i) TerEA

(iv) e 9 3ol

(v) JUST g HUSRU |

Describe the cultivation of Grapes under the following heads :
1+1+1+1+1=5

(i Climate

(ii) Four improved varieties

(iii) Propagation

(iv) Manures and fertilizers

(v) Yield and storage.

19. Wd &1 59 9°F &t fafyr 1 oufF wifew | 399 =W o 9o fafve geref & 9m
fafaw |

AT
g forarumg 2arex 9 g 99 &1 fafy o1 Sooi@ Hifu | Tevas 9t i
I fafan |

Describe the procedure for preparation of Apple Jam. Write the
names of different ingredients used in it. 4+1=5

OR

Write the method of preparing Chutney from two kilogram tomatoes.
Write down the quantity of essential ingredients. 3+2=5
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(aWa

20. ‘ST’ i Tl 1 g0 T IRl & STUR W SIS ;
@ ST
(i) Serary
(i) @E o Ieh
(iv) 399

(v) Tk U o ST fa=or |

Describe the cultivation of ‘Isabgol’ under the following heads :
1+1+1+1+1=5

(i) Uses

(i) Climate

(iii) Manures and Fertilizers

(iv) Yield

(v) One disease and its control.
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